
CHEMISTRY

BOOKS - KUMAR PRAKASHAN

PERIODIC CLASSIFICATION OF

ELEMENTS

Questions And Answers

1. How did the study of large number of

elements become easy?

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_QvYriIsQ3JLZ


View Text Solution

2. On what basis, scientists classified the

different elements in early attempts ?

View Text Solution

3. What is meant by Dobereiner's triads?

Explain.

View Text Solution

https://dl.doubtnut.com/l/_QvYriIsQ3JLZ
https://dl.doubtnut.com/l/_y64yrxwtQ44p
https://dl.doubtnut.com/l/_WGSx15017Xdz
https://dl.doubtnut.com/l/_r3ToGRsNbDyH


4. Some groups of three elements are given

below: 

 


Which of these groups is not an example of

Dobereiner's triad ? Explain it.

View Text Solution

5. Explain the Newlands' law of octaves.

View Text Solution

https://dl.doubtnut.com/l/_r3ToGRsNbDyH
https://dl.doubtnut.com/l/_9KJhePrUuRKe


6. Did Dobereiner's triads also exist in the

columns of Newlands' octaves ? Compare and

find out.

View Text Solution

7. What were the limitations of Dobereiner's

classification ?

View Text Solution

https://dl.doubtnut.com/l/_9KJhePrUuRKe
https://dl.doubtnut.com/l/_6Uskk0e8amBC
https://dl.doubtnut.com/l/_EsrjBBmejWn8
https://dl.doubtnut.com/l/_gapldgpYLuXG


8. What were the limitations of Newlands' law

of octaves ?

View Text Solution

9. Explain the pattern of Mendeleev's periodic

table.

View Text Solution

10. Explain the contribution of Mendeleev in

the classification of elements.

https://dl.doubtnut.com/l/_gapldgpYLuXG
https://dl.doubtnut.com/l/_Utru7emfnIAx
https://dl.doubtnut.com/l/_noX3ohsG7ucz


View Text Solution

11. Explain the irregularities (anomalies) of

Mendeleev's periodic table.

View Text Solution

12. Explain the achievemente ente) of

Mendeleev's periodic table.

View Text Solution

https://dl.doubtnut.com/l/_noX3ohsG7ucz
https://dl.doubtnut.com/l/_OZlOGsKXsJZ2
https://dl.doubtnut.com/l/_8VDAVq6lHx6Q
https://dl.doubtnut.com/l/_7wIFJkvqAnD0


13. Write the limitations of Mendeleev's

classification.

View Text Solution

14. Use Mendeleev's periodic table to predict

the formulae for the oxides of the following

elements : K, C, A, Si, Ba

View Text Solution

https://dl.doubtnut.com/l/_7wIFJkvqAnD0
https://dl.doubtnut.com/l/_RKL8mnAvMK5U


15. Besides gallium, which other elements have

since been discovered that were left by

Mendeleev in his periodic table? (any two)

View Text Solution

16. What were the criteria used by Mendeleev

in creating his periodic table ?

View Text Solution

https://dl.doubtnut.com/l/_vV6xpAqu0sjs
https://dl.doubtnut.com/l/_mvxGxtsKRzV2


17. Why do you think the noble gases are

placed in a separate group ?

View Text Solution

18. Write the general information of the

modern periodic table.

View Text Solution

https://dl.doubtnut.com/l/_iSVIvalpK9zf
https://dl.doubtnut.com/l/_cGil5TpR9O48


19. Explain the outline of the modern periodic

table.

View Text Solution

20. What are meant by periodic properties?

Give examples.

View Text Solution

https://dl.doubtnut.com/l/_ZWIi6S5GOv1L
https://dl.doubtnut.com/l/_4zR4Mch8B3u1


21. What is valency? Explain the trends of

valency for elements in a period and in a

group.

View Text Solution

22. What is meant by atomic size ? Explain the

trends in atomic size of elements in a period

and in a group.

View Text Solution

https://dl.doubtnut.com/l/_fQFn4yQuJqij
https://dl.doubtnut.com/l/_bgmBcOkc8oA5
https://dl.doubtnut.com/l/_Ut0209v5xTnE


23. Write the positions of metallic, nonmetallic

and metalloid elements in the modern

periodic table.

View Text Solution

24. Explain the trends of the metallic character

in a period and a group.

View Text Solution

https://dl.doubtnut.com/l/_Ut0209v5xTnE
https://dl.doubtnut.com/l/_rsUyyv4nhBIl


25. Explain the trends of the non-metallic

character in a period and a group.

View Text Solution

26. What are metalloids or semi-metallic

elements ? Give examples.

Watch Video Solution

https://dl.doubtnut.com/l/_G5RNTFfarkku
https://dl.doubtnut.com/l/_s4lt2R5rABd5


27. How could the modern periodic table

remove various anomalies of Mendeleev's

periodic table?

View Text Solution

28. Name two elements you would expect to

show chemical reactions similar to

magnesium. What is the basis for your choice

?

View Text Solution

https://dl.doubtnut.com/l/_HbxENWql7mMV
https://dl.doubtnut.com/l/_I1bawKRkZnP4


29. Name : 

three elements that have a single electron in

their outermost shells.

View Text Solution

30. two elements that have two electrons in

their outermost shells

View Text Solution

https://dl.doubtnut.com/l/_I1bawKRkZnP4
https://dl.doubtnut.com/l/_jwE4oJVkwEAR
https://dl.doubtnut.com/l/_wGjNId04hIxr
https://dl.doubtnut.com/l/_QrnzaWrHlNSW


31. three elements with filled outermost shells.

View Text Solution

32. Lithium, sodium, potassium are all metals

that react with water to liberate hydrogen gas.

Is there any similarity in the atoms of these

elements ?

View Text Solution

https://dl.doubtnut.com/l/_QrnzaWrHlNSW
https://dl.doubtnut.com/l/_hbT8kt9roIrI


Textual Exercise

33. Helium is an unreactive gas and neon is a

gas of extremely low reactivity. What, if

anything, do their atoms have in common?

View Text Solution

1. In the modern periodic table, which are the

metals among the first ten elements ?

View Text Solution

https://dl.doubtnut.com/l/_gJ4YyVQdrurV
https://dl.doubtnut.com/l/_iTbLrldpYDIQ


2. By considering their position in the periodic

table, which one of the following elements

would you expect to have maximum metallic

characteristics ? Ga Ge As Se Be

View Text Solution

3. Which of the following statements is not a

correct statement about the trends when

going from left to right across the periods of

periodic table:

https://dl.doubtnut.com/l/_iTbLrldpYDIQ
https://dl.doubtnut.com/l/_cUbaATdcr7o0
https://dl.doubtnut.com/l/_458jIWVMFX6n


A. The elements become less metallic in

nature.

B. The number of valence electrons

increases.

C. The atoms lose their electrons more

easily.

D. a total of two shells, with three electrons

in its valence shell ?

Answer:

View Text Solution

https://dl.doubtnut.com/l/_458jIWVMFX6n


4. Element X forms a chloride with the formula

, which is a solid with a high melting

point. X would most likely be in the same

group of the periodic table as ….

A. Na

B. Mg

C. Al

D. 

Answer:

XCl2

https://dl.doubtnut.com/l/_458jIWVMFX6n
https://dl.doubtnut.com/l/_q2I3YqmpedLQ


View Text Solution

5. Which element has 

(a) two shells, both of which are completely

filled with electrons ? 

(b) the electronic configuration 2, 8, 2 ? 

(c) a total of three shells, with four electrons

in its valence shell ? 

(d) a total of two shells, with three electrons in

its valence shell ? 

(e) twice as many electrons in its second shell

as in its first shell ?

https://dl.doubtnut.com/l/_q2I3YqmpedLQ
https://dl.doubtnut.com/l/_uqmZqXG8CF6y


View Text Solution

6. What property do all elements in the same

column of the periodic table as boron have in

common?

View Text Solution

7. What property do all elements in the same

column of the periodic table as fluorine have

in common?

https://dl.doubtnut.com/l/_uqmZqXG8CF6y
https://dl.doubtnut.com/l/_UyX5iSg7Rtdo
https://dl.doubtnut.com/l/_ZTVFeshw0fLy


View Text Solution

8. An atom has electronic configuration 2, 8, 7. 

(a) What is the atomic number of this element

? 

(b) To which of the following elements would

it be chemically similar ? 

(Atomic numbers are given in parentheses.) N

(7) F (9) P (15) Ar (18)

View Text Solution

https://dl.doubtnut.com/l/_ZTVFeshw0fLy
https://dl.doubtnut.com/l/_yS4uA8SvlBuF


9. The position of three elements A, B and C in

the periodic table are shown below: 

 


(a) State whether A is a metal or non metal.

State whether C is more reactive or less

reactive than A 

(c ) Will C be larger or smaller in size than B ? 

(d) Which type of ion, cation or anion, will be

formed by element A?

View Text Solution

Group 16 Group 17

− −

− A

− −

B C

https://dl.doubtnut.com/l/_jkCbE0jysRDk


10. Nitrogen (atomic number 7) and

phosphorus (atomic number 15) belong to

group 15 of the periodic table. Write the

electronic configuration of these two

elements. Which of these will be more

electronegative? Why?

View Text Solution

https://dl.doubtnut.com/l/_jkCbE0jysRDk
https://dl.doubtnut.com/l/_hXinkagXzr7g


11. How does the electronic configuration of an

atom relate to its position in the modern

periodic table ?

View Text Solution

12. In the modern periodic table, calcium

(atomic number 20) is surrounded by

elements with atomic numbers 12, 19, 21 and

38. Which of these have physical and chemical

properties resembling calcium ?

https://dl.doubtnut.com/l/_zTOErZqmXX0u
https://dl.doubtnut.com/l/_Gxks8zYNqBzq


Additional Questions And Answer Answer The

Following Questions In Short

View Text Solution

13. Compare and contrast the arrangement of

elements in Mendeleev's periodic table and

the moderm periodic table.

View Text Solution

https://dl.doubtnut.com/l/_Gxks8zYNqBzq
https://dl.doubtnut.com/l/_PNQuaNi4HypI


1. From the following elements : 

 


(a) Select the element which has two shells,

both of which are completely filled with

electrons. 

(b) Select two elements of the same group.

Watch Video Solution

20Ca, 3Li, 11Na, 10Ne

2. Answer the following questions [for an

element having atomic number 17 ] : 

https://dl.doubtnut.com/l/_scyHDJY0pUPO
https://dl.doubtnut.com/l/_p06XzA11aaeG


(a) Name the element. 

(b) In which period will you find this element ? 

(c) To which group of the periodic table does

this element belong? 

(d) State the electronic configuration of the

element.

Watch Video Solution

3. An element X (atomic number 17) reacts

with an element Y (atomic number 20) to form

a divalent halide. 

https://dl.doubtnut.com/l/_p06XzA11aaeG
https://dl.doubtnut.com/l/_B8P8XW7X60Sp


(a) What is the position of elements X and Y in

the periodic table ? 

(b) What will be the nature of oxide of element

Y? Identify the nature of bonding in the

compound formed.

Watch Video Solution

4. Two elements M and N belong to the same

period of the modern periodic table and are in

group I and group II respectively. Compare

their following properties : 

https://dl.doubtnut.com/l/_B8P8XW7X60Sp
https://dl.doubtnut.com/l/_ppZik5A9jggA


Atomic size 

(b) Metallic character 

( c) Valency of oxides 

(d) Molecular formula of their chlorides

Watch Video Solution

5. A part of the periodic table has been shown

below: 

 


Answer the following questions on the basis

https://dl.doubtnut.com/l/_ppZik5A9jggA
https://dl.doubtnut.com/l/_z7yIIRrAlBmi


of position of elements in the above table : 

(a) Which element is a noble gas? Give reason. 

(b) Which element is most electronegative ?

Give reason. 

(c) Write the electronic configuration of B and

E.

View Text Solution

6. The positions of elements A, B, C, D, E, F, G

and in their respective groups are as follows: 

 


https://dl.doubtnut.com/l/_z7yIIRrAlBmi
https://dl.doubtnut.com/l/_4RbTN7DOplp1


Answer the following questions: 

(a) (a) Which elements have the largest and

smallest atomic size? 

(b) Which elements have the valency 3 and 0

respectively?

View Text Solution

7. Consider the part of periodic table given

below and answer the following questions: 

https://dl.doubtnut.com/l/_4RbTN7DOplp1
https://dl.doubtnut.com/l/_lHCBKQi19kB1


 


(i) State the most reactive metal. 

(ii) How many shells does element d have ? 

(iii) Identify the element having valency 2. 

(iv) Write the number of electrons in the

valence shell of j. 

(v) Out of h and i, which element is more non-

metallic in nature ? 

(vi) Out of e and h, which element possess

large atomic size?

View Text Solution

https://dl.doubtnut.com/l/_lHCBKQi19kB1


8.  


Using the above table, answer the following

questions: 

(i) Which element will form only covalent

compounds ? 

(ii) Which element is a metal with valency 3 ? 

(iii) Which element is a non-metal with valency

3 ? 

(iv) Out of D and E, which one has a bigger

atomic size? 

https://dl.doubtnut.com/l/_lHCBKQi19kB1
https://dl.doubtnut.com/l/_e6xqUdRzVd51


Additional Questions And Answer Distinguish

Between The Following

(v) Write common name for the family of

elements, C and E

View Text Solution

1. Elements of a group and Elements of a

period

View Text Solution

https://dl.doubtnut.com/l/_e6xqUdRzVd51
https://dl.doubtnut.com/l/_s4zRaGV4jYRy
https://dl.doubtnut.com/l/_BuPNQVFAV2l7


2. Metallic element and Non-metallic elements

View Text Solution

3. Dobereiner's triads could not arrange all the

elements known at that time.

View Text Solution

4. Newlands' law of octaves could not classify

all the elements known at that time.

https://dl.doubtnut.com/l/_BuPNQVFAV2l7
https://dl.doubtnut.com/l/_koFCvxDwSBVM
https://dl.doubtnut.com/l/_ZjYk1kPv465r


View Text Solution

5. No fixed position can be assigned to

hydrogen in the periodic table.

View Text Solution

6. The atomic size decreases in a period on

moving from left to right.

View Text Solution

https://dl.doubtnut.com/l/_ZjYk1kPv465r
https://dl.doubtnut.com/l/_ZDorW8SvjM4Z
https://dl.doubtnut.com/l/_et3hKVy0nn5k
https://dl.doubtnut.com/l/_OHyXxEszYgJn


Objective Questions And Answers Answer The

Following Questions In One Word

7. On moving down in a group, the atomic radii

of elements increases gradually.

View Text Solution

1. How many elements are known till date?

View Text Solution

https://dl.doubtnut.com/l/_OHyXxEszYgJn
https://dl.doubtnut.com/l/_RQukOd8sj3zd


2. How many amongst the known elements are

naturally occurring?

View Text Solution

3. In which two types the elements were

classified in early attempts ?

View Text Solution

https://dl.doubtnut.com/l/_glFUMKhmT82Z
https://dl.doubtnut.com/l/_98JQ4Hq82OnY


4. By which name the law proposed by

Dobereiner is known?

View Text Solution

5. How many elements were classified by

Dobereiner's triads ?

View Text Solution

https://dl.doubtnut.com/l/_zd9nnyEPvity
https://dl.doubtnut.com/l/_HRCPQULFbEA8


6. CI, X and I are the elements of Dobereiner's

triad, then what would be the element X ?

View Text Solution

7. Name the elements Newlands started and

ended the classification of elements.

View Text Solution

https://dl.doubtnut.com/l/_0Bmob5W8FfOi
https://dl.doubtnut.com/l/_r7QzQlD2vHiF


8. With what Newlands' law of octaves was

compared ?

View Text Solution

9. Which element possess similar property

with boron in Newlands' law of octaves ?

View Text Solution

https://dl.doubtnut.com/l/_CvGVf4OCxTFc
https://dl.doubtnut.com/l/_ksDjjEW3tyVM


10. Name two elements which were placed in

the same slot in Newlands' octaves.

View Text Solution

11. How many elements were known when

Mendeleev started the classification of

elements ?

View Text Solution

https://dl.doubtnut.com/l/_3oGW45xOulSn
https://dl.doubtnut.com/l/_trqwNWXnUpiW


12. Name two elements which formed

compound on which Mendeleev had

concentrated.

View Text Solution

13. What are the vertical columns and the

horizontal rows called in Mendeleev's periodic

table ?

View Text Solution

https://dl.doubtnut.com/l/_9gIBBD1rnIo3
https://dl.doubtnut.com/l/_N37vfwFeWmKh
https://dl.doubtnut.com/l/_ykddoyeTgnN6


14. Which Sanskrit prefix was used by

Mendeleev in the naming of elements which

were not discovered at that time?

View Text Solution

15. Which element was not placed in

Mendeleev's periodic table properly?

View Text Solution

https://dl.doubtnut.com/l/_ykddoyeTgnN6
https://dl.doubtnut.com/l/_RXfL6fYkvlDZ


16. Which scientist proposed the periodic law

for the modern periodic table ?

View Text Solution

17. Write the number of elements present in

first, third and fourth period in the modern

periodic table.

View Text Solution

https://dl.doubtnut.com/l/_VmhbC6GrnYB7
https://dl.doubtnut.com/l/_CfEMs1pVWF61


18. State the number of elements present in

sixth period of the modern periodic table.

View Text Solution

19. How many groups are present in the

modern periodic table ?

View Text Solution

https://dl.doubtnut.com/l/_D9weOSDcu5dJ
https://dl.doubtnut.com/l/_geAHXLz9h3z3


20. How many elements exist as gases in the

modern periodic table ?

View Text Solution

21. By what names the elements of group I are

known in the modern periodic table ?

View Text Solution

https://dl.doubtnut.com/l/_OvFbLOzjVX1g
https://dl.doubtnut.com/l/_iYyyj0gXGv5L


22. By which formula the maximum number of

electrons that can be accommodated in a shell

determines ?

View Text Solution

23. Write the valency of an element having

atomic number 13.

View Text Solution

https://dl.doubtnut.com/l/_Hfz6Rxjjdhgm
https://dl.doubtnut.com/l/_34LOfMql3k8E


Objective Questions And Answers

24. Name the elements in the modern periodic

table having lowest and highest atomic radii.

View Text Solution

25. State the radius of a hydrogen atom.

View Text Solution

https://dl.doubtnut.com/l/_ZrMzMoewlKen
https://dl.doubtnut.com/l/_Uqmnf6ynY6QI


1. Define : 

Isotopes

View Text Solution

2. Define: 

Periodic properties

View Text Solution

https://dl.doubtnut.com/l/_Gn4CTfAAGYv8
https://dl.doubtnut.com/l/_hcUcrFTT1Yhf


3. Define : 

Valency

View Text Solution

4. Define : 

Atomic radius

View Text Solution

https://dl.doubtnut.com/l/_Zadl7HmC2ON2
https://dl.doubtnut.com/l/_uT8XW4la65ME


5. Define : 

Metalloids (Semi-metal)

View Text Solution

6. Which one of the following depict the

correct representation of atomic radius of an

atom? 

https://dl.doubtnut.com/l/_PQAKWz0PQ8Xj
https://dl.doubtnut.com/l/_XOOtJ9xA3Q93


Objective Questions And Answers Fill In The

Blanks

 


View Text Solution

https://dl.doubtnut.com/l/_XOOtJ9xA3Q93


1. Lithium, sodium and ......... are the members

of Dobereiner's triad.

View Text Solution

2. Newlands law of octaves is applicable for

………….. elements.

View Text Solution

https://dl.doubtnut.com/l/_kddWpvJzUAkH
https://dl.doubtnut.com/l/_wx6Vb28MAkJb


3. According to Newlands, ......... elements occur

in nature.

View Text Solution

4. Mendeleev named scandium as …………

View Text Solution

5. The element known as eka-silicon is. …………..

View Text Solution

https://dl.doubtnut.com/l/_Hs6JmghDfKU7
https://dl.doubtnut.com/l/_xDw97iHQH5SS
https://dl.doubtnut.com/l/_lWBrIAXrhfYB


6. If the valency of an element is 2, then it lies

in group ............

View Text Solution

7. The electronic configuration of an element is

2, 8, 3, then it is an element of ............ period.

View Text Solution

https://dl.doubtnut.com/l/_lWBrIAXrhfYB
https://dl.doubtnut.com/l/_gofhHz3y3hT4
https://dl.doubtnut.com/l/_2UuuCTpkPzC6


8. In the modern periodic table, noble gases

are placed in group …………..

View Text Solution

9. Modern periodic table consists of .........

Periods and ......... groups.

View Text Solution

https://dl.doubtnut.com/l/_dQUQH9hm7jDu
https://dl.doubtnut.com/l/_9xwt4KwcPh7m


10. Position of ......... in the periodic table is

controversial.

View Text Solution

11. On moving down in any group, the metallic

character of the elements ............

View Text Solution

12. Oxides of ......... elements are basic in nature.

https://dl.doubtnut.com/l/_Th4Z5qMyMg8c
https://dl.doubtnut.com/l/_9uZypP6Ls0JU
https://dl.doubtnut.com/l/_4JprpEGQ9Amr


Objective Questions And Answers State Whether

The Following Statements Are True Or False

View Text Solution

1. At present, naturally occurring elements are

98.

View Text Solution

2. The atomic masses of elements form a

Dobereiner's triad are 14 u, 31 u and 74.9 u

https://dl.doubtnut.com/l/_4JprpEGQ9Amr
https://dl.doubtnut.com/l/_wH0mEl7rQC9z
https://dl.doubtnut.com/l/_DO3egsEdmv2k


respectively.

View Text Solution

3. Calcium, strontium and barium form a

Dobereiner's triad.

View Text Solution

4. According to the Newlands law of octaves,

every eighth element had properties similar to

that of the first element.

https://dl.doubtnut.com/l/_DO3egsEdmv2k
https://dl.doubtnut.com/l/_o1yL5yVuKZtA
https://dl.doubtnut.com/l/_ORIMIs2oXWZR


View Text Solution

5. Sodium is the eighth element after lithium.

View Text Solution

6. Oxygen is the eighth element after sulphur.

View Text Solution

https://dl.doubtnut.com/l/_ORIMIs2oXWZR
https://dl.doubtnut.com/l/_nOkOTSlkrlct
https://dl.doubtnut.com/l/_REcjPomMTuvC


7. Phosphorus is the eighth element after

nitrogen.

View Text Solution

8. Dobereiner's triads are observed in

Newlands' octaves.

View Text Solution

https://dl.doubtnut.com/l/_80fFJ2I6PJtb
https://dl.doubtnut.com/l/_4clrMpULWO9b


9. Mendeleev's periodic law was based on

atomic number of elements.

View Text Solution

10. Molecular formula of oxide of barium is

Bao.

View Text Solution

11. Mendeleev named gallium for eka-silicon.

https://dl.doubtnut.com/l/_r8roNM27KepJ
https://dl.doubtnut.com/l/_ZfeYgDla88SR
https://dl.doubtnut.com/l/_TDtsRMG0Unqw


View Text Solution

12. An element having atomic number 3.5 can

be placed between Be and B.

View Text Solution

13. There are three valence electrons present

in the elements of group I.

View Text Solution

https://dl.doubtnut.com/l/_TDtsRMG0Unqw
https://dl.doubtnut.com/l/_YGjwZ4zHZYNm
https://dl.doubtnut.com/l/_aoxkMm44JpFv
https://dl.doubtnut.com/l/_dpluyTgxOZNz


Objective Questions And Answers Match The

Following Properly

14. Electrons are filled in K, L and M shells in

the elements of the third period.

View Text Solution

15. Each period starts with the filling of

electrons in a new shell.

View Text Solution

https://dl.doubtnut.com/l/_dpluyTgxOZNz
https://dl.doubtnut.com/l/_fqtngjpwS1uz


1. 

View Text Solution

2. 

View Text Solution

https://dl.doubtnut.com/l/_LvhCOj0lff9l
https://dl.doubtnut.com/l/_vzl94O6ysy1t
https://dl.doubtnut.com/l/_GKt4OnND1h57


Objective Questions And Answers Draw The

Following Graphs

3. Draw the graph of Atomic radii  Atomic

numbers for the alkali metal elements.

View Text Solution

→

1. Draw the graph of Atomic radii  Atomic

numbers for the elements of second period.

View Text Solution

→

https://dl.doubtnut.com/l/_GKt4OnND1h57
https://dl.doubtnut.com/l/_mcZpOAIoGgo5


Objective Questions And Answers Choose The

Correct Option From Those Given Below Each

Question

1. For which of the following element,

Mendeleev didn't left gap in his periodic table

?

A. Gallium

B. Beryllium

C. Germanium

D. Scandium

https://dl.doubtnut.com/l/_1tHMRFesECGh


Answer: B

View Text Solution

2. Newlands' law of octaves was found to be

applicable upto ..........

A. nickel

B. cobalt

C. phosphorus

D. calcium

https://dl.doubtnut.com/l/_1tHMRFesECGh
https://dl.doubtnut.com/l/_HctuXwXJgO2E


Answer: A::C

View Text Solution

3. According to Mendeleev's periodic law, the

elements were arranged in the periodic table

in the order of ….

A. increasing atomic number.

B. decreasing atomic number.

C. increasing atomic masses.

D. decreasing atomic masses.

https://dl.doubtnut.com/l/_HctuXwXJgO2E
https://dl.doubtnut.com/l/_RA1hWhyC1Zpz


Answer: A::C

View Text Solution

4. The elements Si, B and Ge are .........

A. metallic elements

B. non-metals

C. metalloids

D. metal, non-metal and metalloid

respectively

https://dl.doubtnut.com/l/_RA1hWhyC1Zpz
https://dl.doubtnut.com/l/_vXWa5rSL0GV3


Answer: A::B::C::D

View Text Solution

5. In Mendeleev's periodic table, gaps were left

for the elements to be discovered later. Which

of the following elements found a place in the

periodic table later?

A. Be

B. Ge

C. Si

https://dl.doubtnut.com/l/_vXWa5rSL0GV3
https://dl.doubtnut.com/l/_WPkK8Dil4Qgi


D. Se

Answer:

View Text Solution

6. The three imaginary elements X, Y and Z

represent a Dobereiner's triad. If the atomic

mass of element X is 14 u and that of element

Y is 46 u, then the atomic mass of element Z

will be .........

A. 28

https://dl.doubtnut.com/l/_WPkK8Dil4Qgi
https://dl.doubtnut.com/l/_prqvtqoMIH7X


B. 60

C. 78

D. 72

Answer:

View Text Solution

7. The atomic numbers of four elements P, Q, R

and S are 6, 8, 14 and 16 respectively. Out of

these, the element known as metalloid is ......

https://dl.doubtnut.com/l/_prqvtqoMIH7X
https://dl.doubtnut.com/l/_uwNUC4Yh5xUC


A. P

B. Q

C. R

D. S

Answer:

View Text Solution

8. Which of the following statements is correct

with regard to the classification of elements ?

https://dl.doubtnut.com/l/_uwNUC4Yh5xUC
https://dl.doubtnut.com/l/_jGlyoF5n12Vv


A. Elements in modern periodic table are

arranged on the basis of increasing

atomic masses.

B. Elements in modern periodic table are

arranged on the basis of decreasing

atomic numbers.

C. In modern periodic table, the element

nickel of lower atomic mass is kept

before the element cobalt of higher

atomic mass.

https://dl.doubtnut.com/l/_jGlyoF5n12Vv


D. In modern periodic table, the isotopes of

chlorine having different atomic masses

are kept in the same group.

Answer: A::B::C::D

View Text Solution

9. Which of the following statements about

the modern periodic table is correct?

https://dl.doubtnut.com/l/_jGlyoF5n12Vv
https://dl.doubtnut.com/l/_I2jYnz4URwbi


A. It has 18 horizontal rows known as

periods.

B. It has 8 vertical columns known as

periods.

C. It has 18 vertical columns known as

groups.

D. It has 7 horizontal rows known as

groups.

Answer: A::C

View Text Solution

https://dl.doubtnut.com/l/_I2jYnz4URwbi


10. An element X forms an oxide . In

which group of Mendeleev's periodic table is

this element placed ?

A. Group II

B. Group III

C. Group V

D. Group VIII

Answer:

View Text Solution

X2O3

https://dl.doubtnut.com/l/_I2jYnz4URwbi
https://dl.doubtnut.com/l/_UDuPhLjQgtVv


11. Who proposed the 'Modern periodic law for

the modern periodic table ?

A. Dobereiner

B. Newlands

C. Henry Moseley

D. Mendeleev

Answer:

View Text Solution

https://dl.doubtnut.com/l/_UDuPhLjQgtVv
https://dl.doubtnut.com/l/_3UFNfONPna9g


12. Which fundamental particle forms the real

basis for the modern classification of elements

?

A. Proton

B. Electron

C. Neutron

D. Nucleon

Answer:

View Text Solution

https://dl.doubtnut.com/l/_3UFNfONPna9g
https://dl.doubtnut.com/l/_FT8TnU1H0x0O


13. Which of the following is not correct about

the trends when going from left to right

across the periods of the periodic table ?

A. The elements become more non-metallic

in nature.

B. The number of valence electrons

increases.

C. The atoms lose their electrons easily.

D. The oxides become more acidic.

https://dl.doubtnut.com/l/_FT8TnU1H0x0O
https://dl.doubtnut.com/l/_3qETExcbQuUB


Answer: A::C

View Text Solution

14. The electronic configuration of the atom of

an element X is 2, 8, 4. In modern periodic

table, the element X is placed in……….

A. Group 2

B. Group 14

C. Group 4

D. Group 8

https://dl.doubtnut.com/l/_3qETExcbQuUB
https://dl.doubtnut.com/l/_qK39guV6dpFl


Answer: A::D

View Text Solution

15. The atomic number of an element is 20. In

modern periodic table, this element is placed

in ..........

A. 2nd period

B. 3rd period

C. 1st period

D. 4th period

https://dl.doubtnut.com/l/_qK39guV6dpFl
https://dl.doubtnut.com/l/_jGFGrEgLqGXS


Answer: D

View Text Solution

16. The elements A, B, C, D and E have atomic

numbers of 2, 3, 7, 10 and 18 respectively. The

elements which belong to the same period of

the periodic table are ........

A. A, B, C

B. B, C, D

C. A, D, E

https://dl.doubtnut.com/l/_jGFGrEgLqGXS
https://dl.doubtnut.com/l/_LgUdav1DADkj


D. B, D, E

Answer: B::C::D

View Text Solution

17. The elements A, B, C, D and E have atomic

numbers 9, 11, 17, 12 and 13 respectively. The

pair of elements which belong to the same

group of the periodic table is.

A. A and B

https://dl.doubtnut.com/l/_LgUdav1DADkj
https://dl.doubtnut.com/l/_0iXn6o8HWOJv


B. B and D

C. D and E

D. A and C

Answer: A::C::D

View Text Solution

18. Which of the following element would lose

an electron easily?

A. Mg

https://dl.doubtnut.com/l/_0iXn6o8HWOJv
https://dl.doubtnut.com/l/_MS8VcUkLcAt7


B. Na

C. K

D. Ca

Answer:

View Text Solution

19. Which of the following element will gain an

electron easily?

A. Mg

https://dl.doubtnut.com/l/_MS8VcUkLcAt7
https://dl.doubtnut.com/l/_lHccJTFPpaib


B. F

C. Mg

D. Al

Answer:

View Text Solution

20. Where would you place the element with

electronic configuration 2, 8 in the modern

periodic table ?

https://dl.doubtnut.com/l/_lHccJTFPpaib
https://dl.doubtnut.com/l/_H206Xhu5c3ua


A. Group 8

B. Group 2

C. Group 18

D. Group 10

Answer: A

View Text Solution

21. An element which is an essential

constituent of all organic compounds belong

to ........

https://dl.doubtnut.com/l/_H206Xhu5c3ua
https://dl.doubtnut.com/l/_ghQ0zXJZblgN


A. Group 4

B. Group 10

C. Group 16

D. Group 14

Answer: A::D

View Text Solution

22. Which of the following is the valence shell

for the elements of second period of the

modern periodic table ?

https://dl.doubtnut.com/l/_ghQ0zXJZblgN
https://dl.doubtnut.com/l/_6J1Xhq2RmPBU


A. M-shell

B. K-shell

C. N-shell

D. L-shell

Answer:

View Text Solution

23. The element which has the maximum

number of valence electrons is……..

https://dl.doubtnut.com/l/_6J1Xhq2RmPBU
https://dl.doubtnut.com/l/_qN23wraGqj62


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

15P

11Na

14Si

13Al

24. The correct increasing order of the atomic

radii of the elements oxygen, fluorine and

nitrogen is ..........

https://dl.doubtnut.com/l/_qN23wraGqj62
https://dl.doubtnut.com/l/_yOsqKMn75vWR


A. O, F, N

B. N, F, O

C. O, N, F

D. F, O, N

Answer:

View Text Solution

25. Which one of the following does not

increase while moving down the group of the

periodic table ?

https://dl.doubtnut.com/l/_yOsqKMn75vWR
https://dl.doubtnut.com/l/_QIiNL7rOQM7M


Objective Questions And Answers B Choose More

Than One Correct Options From Those Given

Below Each Question

A. Atomic radius

B. Metallic character

C. Valence electrons

D. Basicity of oxides

Answer: A::C

View Text Solution

https://dl.doubtnut.com/l/_QIiNL7rOQM7M
https://dl.doubtnut.com/l/_edPFhhpdDciJ


1. Mention the drawbacks of Mendeleev's

periodic table.

A. Position of hydrogen

B. Position of isotopes

C. Arrangement of Noble gases

D. Arrangement of more than one elements

in the same slot.

Answer: A::B::C::D

View Text Solution

https://dl.doubtnut.com/l/_edPFhhpdDciJ


2. Which of the following increase while

moving down the group 17 elements ?

A. Atomic radius

B. Valence electrons

C. Metallic character

D. Acidity of oxides

Answer: A::C

View Text Solution

https://dl.doubtnut.com/l/_gGyscMWQlQ71
https://dl.doubtnut.com/l/_WH2DrYTdgg5V


3. Which of the following statements are

correct for modern periodic table ?

A. New elements can be easily arranged.

B. Predictions of properties of the

elements become easy.

C. The elements have been divided into

metals and non-metals by the thick zig-

zag line running diagonally across the

periodic table.

https://dl.doubtnut.com/l/_WH2DrYTdgg5V


D. Atomic volume of elements decreases

onmoving down in the group.

Answer: A::B::C

View Text Solution

4. The electronic configuration of the atom of

an element is 2, 8, 7. In this reference, which of

the following statements are correct?

A. This element belong to group 17.

https://dl.doubtnut.com/l/_WH2DrYTdgg5V
https://dl.doubtnut.com/l/_mzjGEaFZTeA4


B. This element has a tendency to gain one

electron.

C. This element belongs to fourth period.

D. The element fluorine is placed above this

Answer: A::B::D

View Text Solution

5. Assertion A: In the modern periodic table,

metallic character of elements increases on

moving down the group. 

https://dl.doubtnut.com/l/_mzjGEaFZTeA4
https://dl.doubtnut.com/l/_DdB0pl02xP0Q


Reason R: In the modern periodic table, the

elements are arranged in order of their

increasing atomic masses.

A. Assertion A and reason R are true, and

reason R is the correct explanation of

assertion A.

B. Assertion A and reason R are true, but

reason R is not the correct explanation

of assertion A.

https://dl.doubtnut.com/l/_DdB0pl02xP0Q


C. Assertion A is corret but reason R is

false.

D. Assertion A is false but reason R is true.

Answer: C

View Text Solution

6. Assertion A : Newlands arranged the then

known elements in order of musical notes. 

Reason R: According to Newlands, proton is

https://dl.doubtnut.com/l/_DdB0pl02xP0Q
https://dl.doubtnut.com/l/_bSjG54OXWRU1


responsible for the arrangement of elements

in the periodic table.

A. Assertion A and reason R are true, and

reason R is the correct explanation of

assertion A.

B. Assertion A and reason R are true, but

reason R is not the correct explanation

of assertion A.

C. Assertion A is corret but reason R is

false.

https://dl.doubtnut.com/l/_bSjG54OXWRU1


D. Assertion A is false but reason R is true.

Answer: C

View Text Solution

7. Assertion A: Chemical reactivity of the

element of group 18 is very less. 

Reason R: Their outermost shell is completely

filled with electrons.

https://dl.doubtnut.com/l/_bSjG54OXWRU1
https://dl.doubtnut.com/l/_nwzI3qrBVivr


A. Assertion A and reason R are true, and

reason R is the correct explanation of

assertion A.

B. Assertion A and reason R are true, but

reason R is not the correct explanation

of assertion A.

C. Assertion A is corret but reason R is

false.

D. Assertion A is false but reason R is true.

Answer: A

https://dl.doubtnut.com/l/_nwzI3qrBVivr


Objective Questions And Answers C

View Text Solution

1. Assertion A: The position of hydrogen in

modern periodic table is a matter of

controversy. 

Reason R: The properties of hydrogen

resembles with the properties of alkali metals

and halogens.

https://dl.doubtnut.com/l/_nwzI3qrBVivr
https://dl.doubtnut.com/l/_gBUCg9EdsM0V


A. Assertion A and reason R are true, and

reason R is the correct explanation of

assertion A.

B. Assertion A and reason R are true, but

reason R is not the correct explanation

of assertion A.

C. Assertion A is corret but reason R is

false.

D. Assertion A is false but reason R is true.

Answer: A

https://dl.doubtnut.com/l/_gBUCg9EdsM0V


Value Based Questions With Answers

View Text Solution

1. Six elements of periodic table A, B, C, D, E and

F have atomic numbers of 2, 12, 20, 18, 4 and 10

respectively (where A, B, C, D, E and F are not

the chemical symbols of these elements).

Based on this information, answer the

following questions : 

Which of these elements belong to the same

groups of the periodic table? Why?

https://dl.doubtnut.com/l/_gBUCg9EdsM0V
https://dl.doubtnut.com/l/_FvchjHrXiR47


View Text Solution

2. Six elements of periodic table A, B, C, D, E

and F have atomic numbers of 2, 12, 20, 18, 4

and 10 respectively (where A, B, C, D, E and F

are not the chemical symbols of these

elements). Based on this information, answer

the following questions : 

Which of these elements belong to the same

periods of the periodic table? Why?

View Text Solution

https://dl.doubtnut.com/l/_FvchjHrXiR47
https://dl.doubtnut.com/l/_L2oDTnxf8wEt


3. Six elements of periodic table A, B, C, D, E

and F have atomic numbers of 2, 12, 20, 18, 4

and 10 respectively (where A, B, C, D, E and F

are not the chemical symbols of these

elements). Based on this information, answer

the following questions : 

Which of these elements are (i) metals and (ii)

non-metals ?

View Text Solution

https://dl.doubtnut.com/l/_8ANxb3NBt3AZ


4. Six elements of periodic table A, B, C, D, E

and F have atomic numbers of 2, 12, 20, 18, 4

and 10 respectively (where A, B, C, D, E and F

are not the chemical symbols of these

elements). Based on this information, answer

the following questions : 

Which of these elements are chemically (i)

reactive and (ii) unreactive ?

View Text Solution

https://dl.doubtnut.com/l/_z7hI2F6zhgvZ


5. Six elements of periodic table A, B, C, D, E

and F have atomic numbers of 2, 12, 20, 18, 4

and 10 respectively (where A, B, C, D, E and F

are not the chemical symbols of these

elements). Based on this information, answer

the following questions : 

What values are indicated in a student in

answering the above questions?

View Text Solution

https://dl.doubtnut.com/l/_oUTndTK37uX8


6. In his periodic table, Mendeleev arranged all

the then known 63 elements in the order of

increasing atomic masses in horizontal rows

but in such a way that elements having similar

properties came directly under one another in

the same vertical column. In the classification

of the then known elements, Mendeleev was

guided mainly by two factors. In order to make

sure that the elements having similar

properties fall in the same vertical column,

Mendeleev left some gaps in his periodic table.

Though leaving gaps in the periodic table was

https://dl.doubtnut.com/l/_sPdDzGbX7nRR


considered to be a drawback of his

classification of elements at that time but

Mendeleev was firm on his decision. Answer

the following questions : 

What are the horizontal rows of Mendeleev's

periodic table known as ? How many

horizontal rows of elements were there in

Mendeleev's periodic table ?

View Text Solution

https://dl.doubtnut.com/l/_sPdDzGbX7nRR


7. In his periodic table, Mendeleev arranged all

the then known 63 elements in the order of

increasing atomic masses in horizontal rows

but in such a way that elements having similar

properties came directly under one another in

the same vertical column. In the classification

of the then known elements, Mendeleev was

guided mainly by two factors. In order to make

sure that the elements having similar

properties fall in the same vertical column,

Mendeleev left some gaps in his periodic table.

Though leaving gaps in the periodic table was

https://dl.doubtnut.com/l/_ras932bKPmrh


considered to be a drawback of his

classification of elements at that time but

Mendeleev was firm on his decision. Answer

the following questions : 

What are the vertical columns of Mendeleev's

periodic table known as ? How many vertical

columns were there in Mendeleev's periodic

table ?

View Text Solution

https://dl.doubtnut.com/l/_ras932bKPmrh


8. In his periodic table, Mendeleev arranged all

the then known 63 elements in the order of

increasing atomic masses in horizontal rows

but in such a way that elements having similar

properties came directly under one another in

the same vertical column. In the classification

of the then known elements, Mendeleev was

guided mainly by two factors. In order to make

sure that the elements having similar

properties fall in the same vertical column,

Mendeleev left some gaps in his periodic table.

Though leaving gaps in the periodic table was

https://dl.doubtnut.com/l/_SaxG0sp2zucg


considered to be a drawback of his

classification of elements at that time but

Mendeleev was firm on his decision. Answer

the following questions : 

What were the similar properties used by

Mendeleev to classify the then known

elements into vertical columns ?

View Text Solution

9. In his periodic table, Mendeleev arranged all

the then known 63 elements in the order of

https://dl.doubtnut.com/l/_SaxG0sp2zucg
https://dl.doubtnut.com/l/_iYVadJmlkvIg


increasing atomic masses in horizontal rows

but in such a way that elements having similar

properties came directly under one another in

the same vertical column. In the classification

of the then known elements, Mendeleev was

guided mainly by two factors. In order to make

sure that the elements having similar

properties fall in the same vertical column,

Mendeleev left some gaps in his periodic table.

Though leaving gaps in the periodic table was

considered to be a drawback of his

classification of elements at that time but

Mendeleev was firm on his decision. Answer

https://dl.doubtnut.com/l/_iYVadJmlkvIg


the following questions : 

What were the two main guiding factors for

Mendeleev in the classification of the then

known elements ?

View Text Solution

10. In his periodic table, Mendeleev arranged

all the then known 63 elements in the order of

increasing atomic masses in horizontal rows

but in such a way that elements having similar

properties came directly under one another in

https://dl.doubtnut.com/l/_iYVadJmlkvIg
https://dl.doubtnut.com/l/_Zgezru2J6Atz


the same vertical column. In the classification

of the then known elements, Mendeleev was

guided mainly by two factors. In order to make

sure that the elements having similar

properties fall in the same vertical column,

Mendeleev left some gaps in his periodic table.

Though leaving gaps in the periodic table was

considered to be a drawback of his

classification of elements at that time but

Mendeleev was firm on his decision. Answer

the following questions : 

For what purpose were some gaps left by

Mendeleev in his periodic table? Does the

https://dl.doubtnut.com/l/_Zgezru2J6Atz


modern periodic table also have the gaps left

by Mendeleev?

View Text Solution

11. In his periodic table, Mendeleev arranged

all the then known 63 elements in the order of

increasing atomic masses in horizontal rows

but in such a way that elements having similar

properties came directly under one another in

the same vertical column. In the classification

of the then known elements, Mendeleev was

https://dl.doubtnut.com/l/_Zgezru2J6Atz
https://dl.doubtnut.com/l/_HQckC2JfNrl8


guided mainly by two factors. In order to make

sure that the elements having similar

properties fall in the same vertical column,

Mendeleev left some gaps in his periodic table.

Though leaving gaps in the periodic table was

considered to be a drawback of his

classification of elements at that time but

Mendeleev was firm on his decision. Answer

the following questions : 

What values were displayed by Mendeleev in

presenting his classification of elements ?

View Text Solution

https://dl.doubtnut.com/l/_HQckC2JfNrl8


12. There are three elements X, Y and Z having

atomic numbers of 6, 16 and 19 respectively.

Based on this information, Het has been asked

to answer the following questions: 

In which group of the periodic table would you

expect to find (i) element x (ii) element Y and

(iii) element z?

View Text Solution

https://dl.doubtnut.com/l/_wolqKWrpLzVf


13. There are three elements X, Y and Z having

atomic numbers of 6, 16 and 19 respectively.

Based on this information, Het has been asked

to answer the following questions: 

Which two elements will form ionic bonds?

Why?

View Text Solution

14. There are three elements X, Y and Z having

atomic numbers of 6, 16 and 19 respectively.

https://dl.doubtnut.com/l/_7rxieYEciDqm
https://dl.doubtnut.com/l/_pErMtGdxEKs6


Based on this information, Het has been asked

to answer the following questions: 

What will be the formula of ionic compound

formed ?

View Text Solution

15. There are three elements X, Y and Z having

atomic numbers of 6, 16 and 19 respectively.

Based on this information, Het has been asked

to answer the following questions: 

https://dl.doubtnut.com/l/_pErMtGdxEKs6
https://dl.doubtnut.com/l/_7orESxzRJXwa


Which two elements will form covalent bonds?

Why?

View Text Solution

16. There are three elements X, Y and Z having

atomic numbers of 6, 16 and 19 respectively.

Based on this information, Het has been asked

to answer the following questions: 

What will be the formula of covalent

compound formed ?

View Text Solution

https://dl.doubtnut.com/l/_7orESxzRJXwa
https://dl.doubtnut.com/l/_aWdg1RpAOPAd


Practical Skill Based Questions With Answers

17. There are three elements X, Y and Z having

atomic numbers of 6, 16 and 19 respectively.

Based on this information, Het has been asked

to answer the following questions: 

What values are displayed by Het in answering

the above questions?

View Text Solution

https://dl.doubtnut.com/l/_aWdg1RpAOPAd
https://dl.doubtnut.com/l/_OPJupyFGz2np


1. Complete the following cross-word puzzle : 

 


Across : 

(1) An element with atomic number 12 

(3) Metal used in making cans and member of

group 14. 

A lustrous non-metal which has 7 electrons in

its outermost shell. 

Down: 

https://dl.doubtnut.com/l/_9HsmYABSyIpP


(2) Highly reactive and soft metal which

imparts yellow colour when subjected to flame

and is kept in kerosene. 

(5) The first element of second period. 

(6) An element which is used in making

fluorescent bulbs and is second member of

group 18 in the modern periodic table. 

(7) A radioactive element which is the last

member of halogen family. 

Metal which is an important constituent of

steel and forms rust when exposed to moist

air. 

(9) The first metalloid in modern periodic table

https://dl.doubtnut.com/l/_9HsmYABSyIpP


whose fibres are used in making bullet- proof

vests.

View Text Solution

2. In this ladder, symbols of elements are

jumbled up. 

(a) Rearrange these symbols of elements in

the increasing order of their atomic numbers

in the periodic table. 

(b) Arrange them in the order of their group

https://dl.doubtnut.com/l/_9HsmYABSyIpP
https://dl.doubtnut.com/l/_ngEwodj1UIsS


Acitivity 5 2

alos. 

View Text Solution

https://dl.doubtnut.com/l/_ngEwodj1UIsS


Acitivity 5 3

1. Would you place them in different slots

because their atomic masses are different ?

View Text Solution

2. Would you place them in the same position

because their chemical properties are the

same?

View Text Solution

https://dl.doubtnut.com/l/_6v1IVjlOXUwR
https://dl.doubtnut.com/l/_VcF2CDwnMtTm


1. How were the positions of cobalt and nickel

resolved in the modern periodic table ?

View Text Solution

2. How were the positions of isotopes of

various elements decided in the modern

periodic table ?

View Text Solution

https://dl.doubtnut.com/l/_YQSxKm6OvB1W
https://dl.doubtnut.com/l/_VsOr84rlCmEt
https://dl.doubtnut.com/l/_1vZsq8AKI6NC
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3. Is it possible to have an element with atomic

number 1.5 placed between hydrogen and

helium ?

View Text Solution

4. Where do you think should hydrogen be

placed in the modern periodic table ?

View Text Solution

https://dl.doubtnut.com/l/_1vZsq8AKI6NC
https://dl.doubtnut.com/l/_J2hRaufPuJqZ
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1. Look at the group 1 of the modern periodic

table and name the elements present in it. ?

View Text Solution

1. If you look at the modern periodic table, you

will find that the elemenets Li, Be, B, C, N, O, F F

and Ne are present in the second period.

Write down their electronic configurations.

https://dl.doubtnut.com/l/_SqDDFocFbWaS
https://dl.doubtnut.com/l/_apxzgjECvuTp
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View Text Solution

2. Do these elements also contain the same

number of valence electrons ?

View Text Solution

3. Do they contain the same number of shells?

View Text Solution

https://dl.doubtnut.com/l/_apxzgjECvuTp
https://dl.doubtnut.com/l/_wX46C99dxAUL
https://dl.doubtnut.com/l/_sH3DDK7fiGo2


1. How do you calculate the valency of an

element from its electronic configuration ?

View Text Solution

2. What is the valency of magnesium with

atomic number 12 and sulphur with atomic

number 16?

View Text Solution

https://dl.doubtnut.com/l/_NoauuL8eSZfc
https://dl.doubtnut.com/l/_1zF3SLnv1Grm


3. Find the valency of the first twenty

elements.

View Text Solution

4. How does the valency vary in a period on

going from left to right?

View Text Solution

https://dl.doubtnut.com/l/_liXzqnGu0il2
https://dl.doubtnut.com/l/_WGQwsqM6Yiq1


Acitivity 5 7

5. How does the valency vary in going down a

group?

View Text Solution

1. Atomic radii of the elements of the second

period are given below: 

Period II elements: B Be O N Li C 

Atomic radius (pm): 88 111 66 74 152 77 

https://dl.doubtnut.com/l/_KqUQkBDr3yr3
https://dl.doubtnut.com/l/_8t6WYbFv0cDm


Arrange them in decreasing order of their

atomic radii.

View Text Solution

2. Are the elements now arranged in the

pattern of a period in the periodic table ?

View Text Solution

3. Which elements have the largest and the

smallest atoms?

https://dl.doubtnut.com/l/_8t6WYbFv0cDm
https://dl.doubtnut.com/l/_8wZxMu5ubGQO
https://dl.doubtnut.com/l/_BJ3mLlPZWMjU
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View Text Solution

4. How does the atomic radius change as you

go from left to right in a period ?

View Text Solution

1. Study the variation in the atomic radii of

first group elements given below and arrange

https://dl.doubtnut.com/l/_BJ3mLlPZWMjU
https://dl.doubtnut.com/l/_JIBwHozHmcMM
https://dl.doubtnut.com/l/_pBiiPGpIP9aY


them in an increasing order. 

Group I elements : Na Li Rb Cs K Atomic radius

(pm): 186 152 244 262 231

View Text Solution

2. Name the elements which have the smallest

and the largest atoms.

View Text Solution

https://dl.doubtnut.com/l/_pBiiPGpIP9aY
https://dl.doubtnut.com/l/_CzTfCtSY7loy
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3. How does the atomic size vary as you go

down a group ?

View Text Solution

1. Examine elements of the third period and

classify them as metals and non-metals.

View Text Solution

https://dl.doubtnut.com/l/_JDM9nqOv1WhE
https://dl.doubtnut.com/l/_b1gxOZHhiWRd
https://dl.doubtnut.com/l/_1B2mFiY0XjUD
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2. On which side of the periodic table do you

find the metals ?

View Text Solution

3. On which side of the periodic table do you

find the non-metals ?

View Text Solution

https://dl.doubtnut.com/l/_1B2mFiY0XjUD
https://dl.doubtnut.com/l/_cXT1JUMAUjzA
https://dl.doubtnut.com/l/_dV8lH3eLFm1A
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1. How do you think the tendency to lose

electrons changes in a group ?

View Text Solution

2. How will this tendency change in a period ?

View Text Solution

https://dl.doubtnut.com/l/_dV8lH3eLFm1A
https://dl.doubtnut.com/l/_MmkADPn2VC00


1. How would the tendency to gain electrons

change as you go from left to right across a

period ?

View Text Solution

2. How would the tendency to gain electrons

change as you go down a group ?

View Text Solution

https://dl.doubtnut.com/l/_wZM12e6apdfV
https://dl.doubtnut.com/l/_YnT1dhEmgzco

